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Name ________________________ Date  _________

Ms. Posey has a huge rose garden. She is 
cutting the roses before the weather gets too 
cold. The bushes have 367 blooms. Ms. Posey 
cuts 3 dozen roses for the classrooms at the 
school, 2 dozen for her neighbors, and 15 
roses for the rooms in her house. How many 
roses does she have left to cut off the bushes?

© 2015  UGU6M3 Module 3 Two–Four Digits by Two Digits Pretest 

1.  81
w 49ÁÁÁ
 

15 75  ty  77
q66ÁÁÁ
 

 76
e 24ÁÁÁ
 

A  1284
B  1484
C  1624
D  None

2. 3. 4.

A  7
B  6
C  5
D  None

A  143
B  133
C  134
D  None

A  48
B  32
C  38
D  None

5.

31 637  ty 329
q  51ÁÁÁÁ
 

6. 7. 8. 563
w  36ÁÁÁÁ
 

 192
e  57ÁÁÁÁ
 

A  380
B  370
C  378
D  None

A  533
B  527
C  523
D  None

A  9044
B  9144
C  10,944
D  None

A  20r17
B  21r7
C  27r1
D  None

9.

10.

A  442
B  312
C  292
D  None

——— roses

Paul has 14 boxes of apples. 
There are 48 apples in each box. 
Peter has 24 boxes of oranges. 
There are 36 oranges in each box. 
Compare the number of apples Paul has 
to the number of oranges Peter has.

A  Paul has 2 more.
B  Peter has 172 more.
C  Paul has 8 more.
D  Peter has 192 more.
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© 2015  UGU9M1 Geometry, Measurement, and Data Pretest

1. location in spaceA

B

both A and BC

none of the aboveD

made up of pointsA

a 1-D objectB

C

all of the aboveD

2-D shapeA

3-D shapeB

1-D shapeC

none of the aboveD

RaysA

Line segmentsB

AnglesC

None of the aboveD

2-D shapesA

polygonsB

3-D shapesC

none of the aboveD

parallelA

intersectingB

curvedC

none of the aboveD

intersectA

are not parallelB

form right anglesC

all of the aboveD

2.

3.

4.

5.

6.

7.

8.

A point is a ÁÁÁ.

A line is ÁÁÁ.

ÁÁÁ have 2 endpoints.

Circles are ÁÁÁ.

A triangle has ÁÁÁ lines.

A parallelogram is a ÁÁÁ.

is ÁÁÁ.

Perpendicular lines ÁÁÁ.

1
y2e3A

none of
the above

D2e1
y3C

1
y2e1

y3B

G3 - G4


